lin[TEmpfindlichkeit]
=-0,350)-u- ]2

log
log
[

=log
]

Ba

-0,35

Go La

logLo = —0,35[.1)\—U570]Z

log =-0,350)-u ]2

logLa=logLo+0,00

log =log +0,00
u=(A\-550)/50

lin[Séttigung]
=-0,350,-u- ]2
-0,35

Go la

log
log

=log

logLo = —0,35[1~Us7q]2
log =-0,35U)-u ]2
logLa=logLo+0,00

log =logd +0,00
Aattigung L

1,0

0,5+

0,01

1520 1
70 1

Adaptation

Lo=-035La=-0.%
Gp=00 Ga=-0.F
Bg=-0.55Ba =-0.%

4y5EC  565EC

0:
:57U

1.&B: 520
1s=0.0

|

495EC &5&:

\/ \aaptatlon

500

lin[TEmpfindlichkeit]

log
log
[

=-0
=log
s La ]

,350y-u ]
-0,35

Ba Go La

600Ad/nm 700Ac 400

|OgL0 = —0,35[.])\—U570]

log =-0,350-u ]2

logLa=logLo+0,00

log =log +0,00
u,=(A-550)/50

600rd/nm 700Ac 400

logLo = -0,35l)~Us7d
log =-0,350)-u ]2
logLa=logLo+0,00

log =lod +0,00
Aattigung L

1,0

0,5+

Adaptation
L&B: 520
0. ts=0.0

Lo=-035La=-0.%
Gp=00 Ga=-0.F
Bg=-0.55 Ba=-0.%

4y5EC  565EC

0:
:57U

1.&B: 520
1s=0.0

|

495EC gﬁEc

\/ \aaptatlon

500

600Ad/nm 700Ac 400

600Ad/nm 700Ac 400




